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QUESTION 1

You want to use a XSLT mapping in your iFlow. You want to use dynamic parameters that are set as exchange
message properties. 

A. Use only dynamic parameters in the content modifier artifact 

B. Use Java script eithin a special namespace in the XSL template 

C. Use simple expression language within a special namespace in the XSL template 

Correct Answer: C 

 

QUESTION 2

An HTTPS GET call using/$metadata sufficed to the URL provides the result of the call in JSON format. Which API was
used? Note : There are 2 correct answers to this question. 

A. SOAP API 

B. OData API 

C. IDoc API 

D. REST API 

Correct Answer: BD 

 

QUESTION 3

To which concept do OData entities correspond? 

A. Untyped classes 

B. Packages 

C. Typed classes 

D. Class properties 

Correct Answer: A 

 

QUESTION 4

What are approaches to develop a REST API? Note : There are 2 correct answers to this question. 

A. Schema First 

B. Code First 
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C. Contract First 

D. Protocol First 

Correct Answer: AD 

 

QUESTION 5

You have created a custom business object in SAP S/4HANA. How can you access this object outside of SAP
S/4HANA? 

A. Via an SAP S/4HANA SOAP interface 

B. Via an SAP API Business Hub Interface 

C. Via an SAP S/4HANA OData interface 

Correct Answer: C 

 

QUESTION 6

What are some characteristics of a distributed system? Note : There are 2 correct answers to this question. 

A. Individual computer are connected through a network 

B. Individual computers are connected through Kubernetes 

C. Connected computer appear connected through SAP Cloud Platform, Cloud Foundry environment 

D. Connected computers appear as a single computer 

Correct Answer: AC 

 

QUESTION 7

While testing your IFlow you discover that a data store operation step fetches multiple messages instead of one. What
data store operation step type will fetch a specific message from the data store? 

A. Get 

B. Write 

C. Delete 

D. Select 

Correct Answer: A 

 

QUESTION 8

C_CPI_13 PDF Dumps | C_CPI_13 VCE Dumps | C_CPI_13 Practice Test                                3 / 6

https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html


https://www.pass4itsure.com/c_cpi_13.html
2024 Latest pass4itsure C_CPI_13 PDF and VCE dumps Download

You want to use a Groovy script to modify the headers of an exchange message. What import library must you use? 

A. com.apache.camel.framework.util.Message 

B. com.sap.gateway.integration.flow.Message 

C. com.sap.gateway.xiinspector.xmI.Message 

D. com.sap.gateway.ip.core.customdev.util.Message 

Correct Answer: D 

 

QUESTION 9

What pattern is NOT contained in a Camel Exchange Message? 

A. InMessage 

B. Exception 

C. Exchange ID 

D. Runtime node information 

Correct Answer: D 

 

QUESTION 10

Your IFlow processes messages synchronously and you get the message status ESCALATED. What does this
message status mean? 

A. NO error message is sent to the sender 

B. NO error message is sent to the receiver 

C. An error message is sent to the sender 

D. An error message is sent to the receiver 

Correct Answer: C 

 

QUESTION 11

You design a process to throw an exception while messages are being processed by the SAP Cloud Platform
Integration service. What iFlow step type does this? 

A. Terminal Message 

B. Error Start 

C. Error End 

C_CPI_13 PDF Dumps | C_CPI_13 VCE Dumps | C_CPI_13 Practice Test                                4 / 6

https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html


https://www.pass4itsure.com/c_cpi_13.html
2024 Latest pass4itsure C_CPI_13 PDF and VCE dumps Download

D. Escalation End 

Correct Answer: D 

 

QUESTION 12

You split a message, modify the split message, merge the split message and send in a single message via a Web
Service. What are the steps to accomplish this? 

A. 1. Split 

2. SEND 

B. 1. Split * 

2.

 Join 

3.

 Gather 

4.

 SEND 

C. 1. Split 

2.

 Aggregation 

3.

 Join 

4.

 SEND 

D. 1. Split * 

2.

 Multicast 

3.

 Aggregator 

4.

 send 

C_CPI_13 PDF Dumps | C_CPI_13 VCE Dumps | C_CPI_13 Practice Test                                5 / 6

https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html
https://www.pass4itsure.com/c_cpi_13.html


https://www.pass4itsure.com/c_cpi_13.html
2024 Latest pass4itsure C_CPI_13 PDF and VCE dumps Download

Correct Answer: B 

 

QUESTION 13

Which technology is part of SAP\\'s digital innovation system? 

A. Microservices 

B. Containers 

C. Analytics 

D. Internet of Things 

Correct Answer: A 

 

QUESTION 14

Every SAP Cloud Platform Integration tenant has at least one tenant management node and one runtime node. Which
of the following tasks does the tenant management node perform? Note : There are 2 correct answers to this question. 

A. It reads data from the database for monitoring 

B. It starts and stops runtime nodes 

C. It interacts with data storage 

D. It processes messages that are exchanged 

Correct Answer: AB 

 

QUESTION 15

You develop an app using the SAP Cloud Application Programming Model (CAP). What do you use to define the data
model? 

A. Core Data Services (CDS) 

B. SAP Cloud SDK 

C. SAP Cloud Platform SDK 

Correct Answer: B 
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